Year2 Spring 2 Maths Activity Mat 1

Section 1 Section 2 Section 3 | Section &4
Circle true or false What shape has 4 What fraction is shaded? | There are 67 spiders
equal sides? Can you write your | gnd worms. 39 of the
48 + 43 = 92 True/ False szs\mﬂ . Tip aifferent bugs are worms. How
ways?

many are spiders?
45 +5=9 True / False

11 x 10 = 110 True/False @ Ry
| Section 5 Section 6 Section7 Section 8

What s the total Which rope is the longest? Put these numbers | -
- of the oo_.‘im\.u | Which rope is in between? in order, largest to | | =5 >n© tum
- Which rope is the shortest? smallest. | =

A

W

98,101, 87, 229,173

|

e i




Year 2 Spring 2 Maths

Activity Mat 2

Section1 Section 2 Section 3 Section 4
What unit of What is + of 22?7 | Fill in the next three
Hundreds | Tens | Ones measurement would numbers. o
189 = you use to measure a
caterpillar? 49, 43, 41, 37,
393 =
16 = mm m  minutes u ,
yards days
Section5 Section 6 Section 7 Section 8
Draw two lines of Continue the pattern. What would the time Use < or > to make the
symmetry. calculations correct.
B, A, B,D, B, A,
71 88
’ 33 - 14 20 +21
54 - 45 16 + 2




Year 2 Spring 2 Maths Activity Mat 3

How many quarters are
there?

Use the correct unit of
measure for time.

, The oak tree took three

to grow as tall as my
swing.

Are the numbers below odd
or even? Write O (odd) or E
(even) for your answer.

57 is

103

than 73.

152

om = il

Section1 Section 2 Section 3 ‘ Section 4
What 3D shape What is the next day in Which three coins add up
56 + = 82 has two triangular the sequence? to £2.607? o
) faces and three
- tangul ?
-19 =17 rectangular faces Wednesday, Friday,
Sunday,

9 x = 45
— S S iy 7
| Section 5 Section 6 Section 7 Section 8 |

less




Year 2 Spring 2 Maths Activity Mat 4
| Section 1 Section 2 Section 3 Section &
Boris had 50p. He gets What 2D shape has 3 Underline the tens.
a 20p, 5p and 2p coin . corners? a
h T uch is more
mﬂ.o, mig e 238 149 762
did he spend? than 39.
_ g, .
| Section 5 Section 6 Section 7 | Section 8

| If three grapes weigh
15g, how much would
one grape weigh?

What is % of

247

What is the next month in
the sequence?

July, October, January,

! Measure all the sides of |
| the square. How far is |
it all the way round the
shape? :

;

twinkl.co.uk 4




Year 2 Spring 2 Maths Activity Mat 5

Section1 Section 2 Section 3 | Section 4
A=10,B=4,C=5 Make the largest number A bus leaves at
+ = 45 . you can using the number 11.30am. Its journey
) B+B+C = cards. Use each card once. takes 1 and % hours.
o . What time does it
- ) BxC = 4 || 8 ﬂ arrive? -
+ = + BxA=+C= 2 || 6
_4‘ *
| Section5 Section 6 Section 7 Section 8
Draw two lines of Underline thehundreds | | If one packet of crisps What unit of measurement
| .mc33mﬁ_,c. : | and circle the ones. costs 20p, how much would you use to measure the |
| . S would  five packets
893 1308
1926




Year 2 Spring 2 Maths Activity Mat 6

Completethis sentence.

Line A is

longer than Line B.

Line A

Line B

S

Find the total of the Name a 3D shape that
e : has a circle as one of
their faces

curved face.

Section1 Section 2 Section 3 Section 4
Cinema tickets cost £4, Continue thepattern.
four d popcorn costs £1.50. - 70 — wm =
aulddys four days How much does three HVDOO_MVD i
before after tickets and three bags .
of popcorn cost? 4 — 19 =
Saturday | Tuesday | Monday Ay
' Section 5 | | Section6 Section 7 Section 8

Insert a number to make
these calculations correct.

129 <

ﬁ - 156 >

bx9 <

twinklco.uk |




Year 2 Spring Term 2 SPaG Mat

@

and a command about this picture.

| Write a statement, a question /f,mp

S

Look  carefully at  these
homophones. Match the picture to
the correct spelling.

knight

b

Tick either past or present tense K

for these sentences.

I am looking at the plane outside.

D past tense D present tense

I was reading to a friend.

past tense present tense

He's eating an ice-cream.

past tense present tense

Add commas to these sentences. /h

There are pink green yellow and
blue candles.

W 4

Myla Liam Ned Chelsea and Zayan
had birthdays in July.

09 &7

o

Write three new words by ma&:ma/m—/
these suffixes —ed, -ing and -er to
the root word...

cry

Oops, Mr Whoops has spelt

these common exception words
backwards! Write them correctly,
four times each, to help him.

flah

eye

niaga

ssap

evorp




Year 2 m_u::.m Term 2 SPaG Mat

Add the correct subordinating fﬂnf.f

conjunction to this sentence.
when that if

Did you see her face it
started snowing?

What type of word is ‘sitting’ in /m/
this sentence? Circle one.

Jasmine was sitting in the sunshine.

noun  verb  adjective

Use these words to make two new
compound words.

land
bodard

frame card

door

Which year 2 common exception Ki

word has Mr Whoops been juggling
with?

Find the hidden S.\oam.

move t w s s a p a
pass . a o y'n a m

u t M u o g o
many

[ e y n | d v
water

X r p s y d e
Mrs y o ¢ o s r M
would VvV I s a e M o

Use these noun phrases and
adjectives to write a sentence

with two expanded noun phrases.
that bike

her bhag shiny

glittery small turquoise

2

visit twinkl.com M%“




Year 2 Spring Term 2 SPaG Mat

®

g . a
Write a question, a command ff

and an exclamation about
this picture.

faa St

Tick either past or present tense //ml

for these sentences.

They all went for a walk.

D past tense D present tense

My sister is staying at home.

D past tense D present tense

Adam asked you a question.

D past tense D present tense

Add commuas to the sentence. /Mﬂ

They had cats dogs fish birds and
rabbits at Grandma's.

I like drawing stripes spots squiggles
swirls and spirals on my page.

Look  carefully at  these
homophones. Match the picture to
the correct spelling.

b

Write two new words by adding f/alﬁl
the suffixes —er, —est and -ly to
the root word...

nice

N3

Oops, Mr Whoops has spelt

these common exception words
backwards! Write them correctly,
four times each, to help him.

ytterp

yenom

taerg
dlihc
dniheb




<mn:, 2 mU::m Am:ﬁ 2 SPaG _,\_nﬁ

I |

: \
Add the correct mswo_.%:pﬂ:@ //mﬁf_
| conjunction to this sentence N

__ when that because if

I'm getting wet it's
heavily raining now. !

i

in this sentence? Circle one.

The princess had long, beautiful hair.

adjective noun adverb wverb

What type of word is ‘beautiful’ /M[

Which year 2 common exception f/mg

word has Mr Whoops been juggling
with?

| Usée two of these words to make .,.fﬁ_,_u

three new compound word.

board
" soft

head
clip

ball red i
. gate !

Find the hidden <<o_dm //l

table a e e | b w t
_— p m Ll n s e e s
X a L.t e w t e
hottle r ot d t v o |1
little wnt r d o r t
; ngieol bt
middle b
i ¢ y ¢ I e i
_umn_.._n_.w e | p p a L t [

Use these noun phrases and your f/m.i

own adjectives to write an expanded
noun phrase in a full sentence.

the apple

his shorts

visit twinkl.com




Year 2 Spring

Term 2 SPaG _,\_n._”

®

Write a command, a statement /, :
L] » n../lru.”

and an exclamation about this

picture.

a
S

Look  carefully at  these s

homophones. Match the picture to
the correct spelling.

Tick either past or present tense Kl

for each sentence.

Lennie is clapping his hands.

D past tense D present tense

Dad was playing on the scooter.

past tense present tense

|

She just drank water.

—

past tense present tense

—

Add commas to wrmmm sentences. /n/

Hats gloves scarves and coats
were on the floor.

4

The teacher chose Jim Mohammed
Ciara and Gethin to tidy it up.

. ©PDE 66
09871%s

Write three new words by th.Sm/M—/
these suffixes -y, —er and -ed to
the root word...

whine

Oops, Mr Whoops has spelt

these common exception words
backwards! Write them correctly,
four times each, to help him.

dlot

tsal

—

htap
dliw

stnerap




Year 2 Spring Term 2 SPaG Mat

(<] ®

. Add the correct subordinating f/m What type of word is ‘loudly’ in /MI Find the hidden words.
et
conjunction to this sentence. this sentence? Circle one. : .
camel s ["e m a ¢ t y
when that because if He's playing those drums very loudly! [ S d [ n s e o s
tunnel -t
Do you know a brilliant song ot au t e wwe
we could sing? squirrel | o ¢ | t v e |
travel N n t r r o o
. s L e v ar t t
towel
. . e i cy c | e i
Which year 2 common exception . Ll g _
word has Mr Whoops been juggling tinsel Lononoe
with?
Use these noun phrases and add W/Mi

your own adjectives to write a

Use these words to make three b sentence with two expanded noun
new compound words. phrases.
, their bed
key clip up hair @ ! | these clouds
(o

make board © shoe

, | P
g ¢ . visit twinklL.com %




<m,o._, 2 Maths Activity Mat

__

p N
Section 1 Section 2 Section 3
Use the correct sign < or > to make these true: What are the missing numbers? Hannah has 39 lipsticks.
Beth has 27 more. How‘many has
m\_mD 120 103 Dwo‘_ ﬁ 21 18 12 3 0 Beth got?
Section 4 Section 6
Which number is the odd ene out? Dance class starts at half past 9. It takes 3 of an hour to get
Explain how you know. there. What time does Kim need to set off, to get there on time? -
140 822 ~
214
301 Q96 ﬁ i
............................................................... e _ | mmn.ﬂm-op m
Section 7 . Are these correct? If not, can you make
e ————— J If one glass holds 40ml of juice, how many glasses of juice can ,, them right?
) - be poured out? _—— —= | 119+21 =138
Section 5 | |
Pippa eats 7 of a pizza. Her brother eats’ J |
= of the pizza. What fraction of the V” | 6742 =125
pizza is left? ,_w |
L _
- _ ,
_ 98 - 39 = 54 W

trvimbl. coowk



Year 2 Maths Activity Mat

8 R - " o ~
Section 1 Section 3 Section 5 Section 7 [
Find the missing numbers: I have 36 sweets. I What time is the clock showing? Write down 3 facts about rectangles.
share them between ,

R A R N < T N I I
many will they each ‘

D 3 97 = 43 ¢ 12 oL A T . e S T N P P

- L ...................................

7_ mmn.ﬂm.op N , 7 .........................................................................

| What’s my number? | D -

5 |\ J [

| MM M.,Mu \.v .U A_ Section 6

| i " Write these numbers in words: 2 A

s 2 Section 4 Section 8

ave 3 digits. . .

| | : | Make £3.78 using the 534 A shopkeeper puts 6 apples in one basket. How

A [ am even. - , fewest number of coins. many baskets will he need for 20 apples?

, 7

7, My tens digit is the same as [ [ T (OOt e

| 164 V 302

—_ My ones digit is the same as m

_ 2 x4 A N N [ N R T

| f ] ; )

| My hundreds digit is the same ,W Now write these words in numbers:

L SRS : . 7 Six hundred and twenty-one

| ) ]

; _ ........................................................

,..W e i X
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